Profit and Loss
Exercise 11B

Q1l

Answer:

(D) 25%

CP of the book = Rs. 80

SP of the book = Rs. 100

Gain = 5P - CP =Rs. (100 - 80) =Rs. 20
Gain% — (S x 100 )%

= (g—‘g * 1{10)%

= 25%

Q2

Answer :

(@121 %

CP of a football = Rs. 120
SP of a football = Rs. 105

CP>SP ‘
~Loss=CP-SP=Rs. (120-105)= 15 $ &
Loss% = (% X 10[])%




Answer:

(b) 25%

SP of the bat = Rs. 100
Gain =Rs. 20

Gain = SP - CP
= 20 =100-CP

= CP=100-20=Rs. 80

Gain% = (G“'“x 1{)0)%

<r
= (% x 1{)[})%
= 25%
Q4
Answer:
(a) Rs. 180

SP of the racket = Rs. 198
Gain% =10

CP of the racket = ¢ —% % 100
(100 + Cain %)

= { W0 198}
(100 + 10)

__ 1o
=15 % 198

= Rs. 180

Q5
Answer:

Let the cost price be Rs. x.

~ CP=Rs. 168
SP=Rs. 144

Mew SP = Rs. 189
Gain=SP-CcP=Rs. (180 — 168 ) = Rs. 21

Gain% = (%" x 1{)(1)%
= (% x 1{]0)%
=12.5%

The correct answer is 12.5%.
All the given options are wrong.

Qé



Answer:

(d) Rs. 72

SP of the pen = Rs. 48
Loses = 20%

Then,CP = {¢x SP}
{100 — Loss %)

_ 100
_{{mn—zn] x 48}
= Rs. 60

In order to gain 20%:

(100 + Cain %)
SP = {Tx CP}

()

_ 120
= 1 x 60
= Rs. 72
Q7
Answer:
(a) 20%
Let the cost price of each pencil be Rs.1
Cost of 15 pencils = Rs 15
SP of 15 pencil = CP of 12 pencil = Rs 12

~CP=Rs15
SP=Rs12

Loss=CP-SP=Rs (16 —12) = Rs 3
Loss% = (%x 1[]0)%

= (li'ﬁx 1{]0)%

_ mg Q

(4)331%

Let the cost price of e!ll'l toffee

Cost price of three foffees =
SP of three toffees = CP of fo

CP=Rs3
SP=Rs4

Gain=SP-CP=Rs (4 — 3) = Re 1
Gain% — (%{," X 1{]0)%

= (%x 1{}0)%



Answer :

(c) Rs. 176

SP of an article = Rs. 144
Loss% =10

cP = {¢ X SP}
(100 — Loss %)

100
- {{mn_m] . 144}

100
= 0 ® 144
1440
- "9
= Rs. 160

In order to gain 10%:

(100 + Gain %)
S.P. = TX cP

(100 + 10)

= T X 160

= %xlﬁﬂ
— Rs. 176

Q10

Answer:

(a) 50%

==

CP of six lemons = Re 1

CP of one lemon = Rs & 2’&
CP of four lemon = Rs % \
SP of four lemon = Re 1 A

(d)Rs. 600

SP of the chair = Rs 720
Gain% = 20

C.P. = { 100 * S.P.}
{100 + Profit percentage)

~ {0 < 70}

Answer :

(c) Rs. 700

SP of a stool = Rs 630
Loss% =10

cp {¢ . sp}
(100 — L oss %)

100
- { (100 — 10) * 63{]}

100
= ﬁxﬁgﬂ

= Rs 700




